URBAN BAE 24, BLOCK - JP, PITAMPURA, NORTH WEST Pitampura, Delhi-110034 Email: <u>info.urbanbae@gmail.com</u>

	CLASS : NURSERY	
S.No.	Name of the Book	Amount
1	Budding Scholars English Activity A	260
2	Cursive for Juniors[Small Letters] Budding Scholars	200
3	Firefly Foundation Patterns	125
4	English with Phonics Book A	320
5	Little Genius Hindi A	159
6	Lilting Lyrics [Rhymes Book] Part -B	199
7	Little Genius (1-50)	169
8	Splash Level 2	395
9	Art Carnival A	349
10	Jumbo Colouring Book	290
	STATIONERY	
1	Notebooks[4@40/-]	160
2	Diary	200
3	Drawing File	120
4	Fevisticks	50
5	Acrylic Colours	110
6	Doms oil pastels 50 shades	230
7	Pencil Box , Erasers, Pastel sheets, Fevicol	185
8	Doms Clay	175
9	Miscellaneous (worksheets - & Assignments for the whole session , medical card , I-Card,	2000
7	Annual Planner, Apron, Plastic covers, Carry Bag, Origami Sheets, Clear Bag)	2000
10	Kaleidoscope[An Insight into Shah International School Campus]	100
	TOTAL	5796

	CLASS- PREP	
S.No.	Name of the book	Amount
1	Get Ready for RHYMES with activities and stories Part C	250
2	Alpha Fun English Skill Book Level 3	490
3	Aao Seekhein Swar and Vyanjan (Budding Scholars)	260
4	Geet Sargam (Part III)pending	120
5	Geeta Little Touch Hindi Level II	290
6	Number Max Level 3	485
7	Starter Set UKG Skill Book	350
8	Art Carnival Part C	369
	STATIONERY	T
1	Notebooks (5 @ 40/-)	200
2	Diary	200
3	Drawing File	120
4	Fevistick	50
5	Camlin Acrylic Colours	110
6	Doms Oil Pastels	230
7	Pencil Box , Erasers, Pastel sheet, Fevicol	185
8	Miscellaneous (worksheets - & Assignments for the whole session , medical card , I-Card, Annual Planner, Apron , Plastic covers , Carry Bag, Origami Sheets, Clear Bag)	2000
'	TOTAL	5709

S.No.	Name of the book	Amount
1	English Literature : Real English	435
2	New Perfect Maths	465
3	Together with EVS	369
4	Gunjan Pathmala	399
5	Whats What revised and updated	295
6	A Better You	272
7	Artist in me	349
8	Grow with IT	260
	STATIONERY	
1	Notebooks (8@ 40/-)	320
2	Diary Drawing File	200
3	Drawing File	120
4	Scrap File	50
5	Miscellaneous (worksheets & Assignments for the whole session), medical card, I-Card ,	2000
-	Lannual Dlannar - Diactic Course - Carry Rag	1
	annual Planner , Plastic Covers , Carry Bag . TOTAL	5534
	TOTAL CLASS: II	
S.No.	TOTAL CLASS: II Name of the book	Amount
S.No. 1	TOTAL CLASS: II Name of the book English Literature : Real English	Amount 455
S.No. 1 2	TOTAL CLASS: II Name of the book English Literature : Real English New Perfect Maths	Amount 455 485
S.No. 1 2 3	TOTAL CLASS: II Name of the book English Literature : Real English New Perfect Maths Together with EVS	Amount 455 485 369
S.No. 1 2 3 4	TOTAL CLASS: II Name of the book English Literature : Real English New Perfect Maths Together with EVS Gunjan Pathmala	Amount 455 485 369 425
S.No. 1 2 3	TOTAL CLASS: II Name of the book English Literature : Real English New Perfect Maths Together with EVS Gunjan Pathmala Whats What revised and updated	Amount 455 485 369 425 305
S.No. 1 2 3 4 5	TOTAL CLASS: II Name of the book English Literature : Real English New Perfect Maths Together with EVS Gunjan Pathmala	Amount 455 485 369 425
S.No. 1 2 3 4 5 6	TOTAL CLASS: II Name of the book English Literature : Real English New Perfect Maths Together with EVS Gunjan Pathmala Whats What revised and updated A Better You	Amount 455 485 369 425 305 284
S.No. 1 2 3 4 5 6 7	TOTAL CLASS: II Name of the book English Literature : Real English New Perfect Maths Together with EVS Gunjan Pathmala Whats What revised and updated A Better You Artist in me	Amount 455 485 369 425 305 284 349
S.No. 1 2 3 4 5 6 7	TOTAL CLASS: II Name of the book English Literature : Real English New Perfect Maths Together with EVS Gunjan Pathmala Whats What revised and updated A Better You Artist in me	Amount 455 485 369 425 305 284 349
S.No. 1 2 3 4 5 6 7	TOTAL CLASS: II Name of the book English Literature : Real English New Perfect Maths Together with EVS Gunjan Pathmala Whats What revised and updated A Better You Artist in me Grow with IT	Amount 455 485 369 425 305 284 349
S.No. 1 2 3 4 5 6 7 8 1 1 2	CLASS: II Name of the book English Literature : Real English New Perfect Maths Together with EVS Gunjan Pathmala Whats What revised and updated A Better You Artist in me Grow with IT STATIONERY Notebooks (8 @ 40/-) Diary	Amoun 455 485 369 425 305 284 349 295 320 320 200
S.No. 1 2 3 4 5 6 7 8 - 1 2 3	CLASS: II Name of the book English Literature : Real English New Perfect Maths Together with EVS Gunjan Pathmala Whats What revised and updated A Better You Artist in me Grow with IT STATIONERY Notebooks (8 @ 40/-) Diary Drawing File	Amoun 455 485 369 425 305 284 349 295 295
S.No. 1 2 3 4 5 6 7 8 1 1 2	CLASS: II Name of the book English Literature : Real English New Perfect Maths Together with EVS Gunjan Pathmala Whats What revised and updated A Better You Artist in me Grow with IT STATIONERY Notebooks (8 @ 40/-) Diary Drawing File Scrap Book	Amoun 455 485 369 425 305 284 349 295 320 200
S.No. 1 2 3 4 5 6 7 8 - 1 2 3 4 - - - - - - - - - - - - -	CLASS: II Name of the book English Literature : Real English New Perfect Maths Together with EVS Gunjan Pathmala Whats What revised and updated A Better You Artist in me Grow with IT STATIONERY Notebooks (8 @ 40/-) Diary Drawing File Scrap Book Miscellaneous (worksheets & Assignments for the whole session), medical card, I-Card ,	Amoun 455 485 369 425 305 284 349 295
S.No. 1 2 3 4 5 6 7 8 - 1 2 3	CLASS: II Name of the book English Literature : Real English New Perfect Maths Together with EVS Gunjan Pathmala Whats What revised and updated A Better You Artist in me Grow with IT STATIONERY Notebooks (8 @ 40/-) Diary Drawing File Scrap Book	Amoun 455 485 369 425 305 284 349 295 295 320 320 200 120

	CLASS - III	
S.No.	Name of the book	Amount
1	English Literature : Real English	465
2	Eng Grammar : Everyday English Grammar	365
3	New Perfect Maths	510
4	Together with E-Sst	469
5	Gunjan Pathmala	460
6	Bhasha Chayan	340
7	Whats What revised and updated	335
8	A Better You	292
9	Artist in me	349
10	Grow with IT	330
11	Together with E-Science	469
	STATIONERY	
1	Notebooks (19 @ 40)	760
2	Diary	200
3	Drawing File	120
5	Miscellaneous (worksheets & Assignments (for the whole session), Library card , medical card, I-Card , annual Planner , Plastic Covers , Carry Bag.	1500
	TOTAL	6964

CLASS: IV

S.No.	Subject	Amount
1	English Literature : Real English	475
2	Eng Grammar : Everyday English Grammar	395
3	New Perfect Maths	525
4	Together with E-Sst	479
5	Gunjan Pathmala	485
6	Bhasha Chayan	350
7	Whats What revised and updated	365
8	A Better You	324
9	Artist in me	349
10	Grow with IT	395
11	Together with E-Science	479
	STATIONERY	
1	Notebooks (19@ 40)	760
2	Diary	200
3	Drawing File	120
4	Miscellaneous (worksheets & Assignments (for the whole session), Library card , medical card, I-Card , annual Planner , Plastic Covers , Carry Bag.	1500
	TOTAL	7201

	CLASS: V	
S.No.	Name of the Publisher	Amount
1	English Literature : Real English	495
2	Eng Grammar : Everyday English Grammar	425
3	New Perfect Maths	535
4	Together with E-Sst	499
5	Gunjan Pathmala	490
6	Bhasha Chayan	370
7	Whats What revised and updated	385
8	A Better You	336
9	Artist in me	349
10	Grow with IT	445
11	Together with E-Science	499
	STATIONERY	
1	Notebooks (17*40) (12 SL , 5 SLIL)	680
2	Diary	200
3	Drawing File	120
4	Miscellaneous (worksheets & Assignments (for the whole session), Library card , medical card, I-Card , annual Planner , Plastic Covers , Carry Bag.	1500
	TOTAL	7328

CLASS: VI (SKT)

S.No.	Name of the Publisher	Amount
1	English Literature : Real English	525
2	Eng Grammar : Everyday English Grammar	495
3	Maths : NCERT	0
4	Together with E- Social Science	569
5	Gunjan Pathmala	495
6	Bhasha Chayan	390
7	Whats What revised and updated	415
8	A Better Life	348
9	Artist in me	369
10	Grow with IT	445
11	Science : NCERT	0
12	Sanskrit - 1	360
	STATIONERY	
1	Notebooks (17 @ 40) (13 SL, 4 SLIL)	680
2	Registers (2 @ 70)	140
3	Diary	200
4	Drawing File	120
5	Miscellaneous (worksheets & Assignments (for the whole session), Library card , medical	1500
	card, I-Card , annual Planner , Plastic Covers , Carry Bag.	
Dlaga	TOTAL	7051

Please Note

	CLASS: VI (FRENCH)	
S.No.	Name of the Publisher	Amount
1	English Literature : Real English	525
2	Eng Grammar : Everyday English Grammar	495
3	Maths : NCERT	0
4	Together with E- Social Science	569
5	Gunjan Pathmala	495
6	Bhasha Chayan	390
7	Whats What revised and updated	415
8	A Better Life	348
9	Artist in me	369
10	Grow with IT	445
11	Science : NCERT	0
12	French : Mon Passeport - 1	435
	STATIONERY	
1	Notebooks (17@ 40) (13 SL,4 SLIL)	680
2	Registers (2 @ 70)	140
3	Diary	200
4	Drawing File	120
5	Miscellaneous (worksheets & Assignments (for the whole session), Library card , medical	1500
	card, I-Card , annual Planner , Plastic Covers , Carry Bag.	
	TOTAL	7126

Please Note

1 NCERT of Maths and Science to be purchased by Parents.

CLASS: VII (SANSKRIT)

S.No.	Name of the Book	Amount
1	English Literature : Real English	535
2	Eng Grammar : Everyday English Grammar	495
3	Maths : NCERT	0
4	Together with E- Social Science	579
5	Gunjan Pathmala	499
6	Bhasha Chayan	390
7	Whats What revised and updated	425
8	A Better You	356
9	Artist in me	369
10	Grow with IT	465
11	Science : NCERT	0
12	Sanskrit - 2	370
	STATIONERY	
1	Notebooks (17 @ 40)(13SL, 4 SLIL)	680
2	Registers (2 @ 70)	140
3	Diary	200
4	Drawing File	120
5	Miscellaneous (worksheets & Assignments (for the whole session), Library card , medical	1500
5	card, I-Card , annual Planner , Plastic Covers , Carry Bag.	1500
	TOTAL	7123
	Please Note	

Please Note

CLASS: VII (FRENCH)	
Name of the book	Amount
English Literature : Real English	535
Eng Grammar : Everyday English Grammar	495
Maths : NCERT	0
Together with E- Social Science	579
Gunjan Pathmala	499
Bhasha Chayan	390
Whats What revised and updated	425
A Better You	356
Artist in me	369
Grow with IT	465
Science : NCERT	0
French : Mon Passeport - 2	450
STATIONERY	
Notebooks (17 @ 40)	680
Registers (2 @ 70)	140
Diary	200
Drawing File	120
Miscellaneous (worksheets & Assignments (for the whole session), Library card , medical	1500
TOTAL	7203
	Name of the bookEnglish Literature : Real EnglishEng Grammar : Everyday English GrammarMaths : NCERTTogether with E- Social ScienceGunjan PathmalaBhasha ChayanWhats What revised and updatedA Better YouArtist in meGrow with ITScience : NCERTFrench : Mon Passeport - 2STATIONERYNotebooks (17 @ 40)Registers (2 @ 70)DiaryDrawing File

Please Note

1 NCERT of Maths and Science to be purchased by Parents.

CLASS: VIII (SKT)

S.No.	Name of the book	Amount
1	English Literature : Real English	545
2	Eng Grammar : Everyday English Grammar	495
3	Maths : NCERT	0
4	Together with E- Social Science	589
5	Gunjan Pathmala	499
6	Bhasha Chayan	390
7	Whats What revised and updated	435
8	A Better You	364
9	Artist in me	369
10	Grow with IT	475
11	Science : NCERT	0
12	Sanskrit - 3	380
	STATIONERY	
1	Notebooks (18 @ 40) (13 SL, 5 SLIL)	720
2	Registers (2 @ 70)	140
3	Diary	200
4	Drawing File	120
5	Miscellaneous (worksheets & Assignments (for the whole session), Library card , medical	1500
5	card, I-Card , annual Planner , Plastic Covers , Carry Bag.	1300
	TOTAL	7221
	Please Note	

	CLASS VIII (FRENCH)	
S.No.	Name of the Book	Amount
1	English Literature : Real English	545
2	Eng Grammar : Everyday English Grammar	495
3	Maths : NCERT	0
4	Together with E- Social Science	589
5	Gunjan Pathmala	499
6	Bhasha Chayan	390
7	Whats What revised and updated	435
8	A Better You	364
9	Artist in me	369
10	Grow with IT	475
11	Science : NCERT	0
12	French : Mon Passeport - 3	475
	STATIONERY	
1	Notebooks (18 @ 40)	720
2	Registers (2 @ 70)	140
3	Diary	200
4	Drawing File	120
5	Miscellaneous (worksheets & Assignments (for the whole session), Library card , medical	1500
5	card, I-Card , annual Planner , Plastic Covers , Carry Bag.	1500
	TOTAL	7316
1	Please Note	

Please Note